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1.	Introduction
It was discussed in previous meeting that meeting OFF-axis EIRP requirement for a device, that needs to have EIRP capability to close the UL for GSO and have an array implementation, is challenging. The OFF-axis EIRP is defined for 40 kHz and 1 MHz MBW. In this paper we propose how to allow such implementations. 
2. 	Discussion
2.1	UE type 2 and 5
The UE type 2 and 5 are electronic steering UE with min peak EIRP requirements of 70 dBm and both need to meet OFF-axis EIRP requirements. We assume here that there is a mistake in the [1] and the intention was to apply these requirements for UE supporting GSO and therefore the type 3 does not need to meet these requirements. In figure 1 we show the needed MPR for one possible implementation that can meet the min peak EIRP requirement.  

Figure 1. MPR determination for 4096 element array
From the picture, it can be read that the sidelobes exceed the limit by 12 dB if we assume 60 kHz SCS when the all of the energy of RB is within the MBW. This implementation has nominal output power of 74 dBm. Minimum back off would be then 13 dB assuming grating lobes can be handled separately. 
 With 120 kHz SCS back off less by 1.6 dB since only part of the energy falls in to the MBW but for the simplicity of the specification it makes sense to keep the same MPR.  For this purpose we propose the follow MPR to meet OFF-axis EIRP:
Proposal: MPR for UE type 2 to meet OFF-axis EIRP requirement is: 
CEIL{14 – 10*LOG10(LCRB*SCS*12/1e6),1}
This would be applicable for all bands. 
2.2	Consideration of the requirements on 9.2.2.3. 
The section 9.2.2.3 uses 40 kHz MBW and scales down the EIRP dBm value from 62.5 to 49 dB which is inline with the smaller MBW. The EIRP requirement also starts from 1.8 deg instead of 2 deg. Figure 2 shows scaled plot and it can be read that the exceeded emissions is about the same 13 dB. 

Figure 2. 40 kHz MBW emission requirements
2.3	Applicability of the OFF-axis requirements
The CR says:
The Off-axis EIRP density envelope is applicable within the band to FR2-NTN UE transmitting to a SAN. 
Our understanding that this OFF-Axis requirement is applicable only for UE supporting GSO. This should be clarified in the 38.101-5. 
Conclusion
We discussed and conclude that MPR is needed to meet the OFF axis EIRP and made one proposal:

Proposal: MPR for UE type 2 to meet OFF-axis EIRP requirement is: 
CEIL{14 – 10*LOG10(LCRB*SCS*12/1e6),1}
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